Math 132 Fall 2017

Quiz 7 10/27/17 Name (Print):
1. Consider f(z) = ' — 22% + 4z on the interval [—2,2]. Find all ¢ satisfying the Mean Value
Theorem. 72
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2. Show f(z) = 2% 4+ 3z + sinz, has at most 1 root.
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3. Let f(z) = #® — 273 find the local minima and maxima and inflection points.
| 4
/ = x +3 x
ﬂ ’? 5
=L =[x
Y-
{ <3 /.)
7():-0 &3 X‘g—: ~3H & = '(‘2-)
ot 4

L ' { =
:Oé——-))(:foc’bx’(o

7[! >0 o xe (-(2)% 00 (0,00

Z/<o m xe (-2 ’(%)ys—>

[0 o ne (oo, 00 (6%, 0°)
[<o M XE (0/ Cp—%—)

&caﬁ ™min { gy = _(%)‘/5‘
‘Qo \OC_L\ ™K .
\r\g{\e,c\\’\s\f\ ApANY:  x = G i



